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BCTYII

Po3BUTOK Ta BIOCKOHAJIEHHS 3a04HOI ()OPMU HABYAHHS y BMILINA IIKOJI
BIJI'pAa€ BEIUYE3HE 3HAYCHHS Yy CY4YaCHUX YyMoOBax. BaxmuBo 3a3HaunuTu
MPOBIIHY pOJb AaHMVIHCBKOI MOBH 3a TMpodeCiiHUM CHpSMYBaHHSIM Y
TeOpeTUYHId Ta (paxoBid MIATOTOBII CTYJIEHTIB TEXHIYHUX CIELIAJIbHOCTEH, a
0c00JIMBO Yy cdepl MporpamMHoi 1HKEHepIi.

be3 cyMmHIBY, 1110 HaBHYKH MPAaKTUYHOTO BOJIOJIHHS AHTJIHCHKOIO MOBOIO
BIJIKpUBAIOTh HOBI MOJXJIMBOCTI I MallOyTHHOTO (paxiBIls, WOTO 3HaTHICTH
MIBUJIKO OPIEHTYBAaTUCS y MIHJIMBOMY CYYaCHOMY CEpEAOBHUII, AKTHUBHO
pearyBatu Ta 3HAHOMHUTHCS 3 HOBOK 1HGOpPMAIEI0 y CBOIM Taily3i, IO
M1JIBUIIYE PIBEHb HOTO KOHKYPEHTOCTIPOMOYKHOCTI Ha PUHKY MpAIIi.

Kypc BuBUEHHS AMCUMIUTIHM «AHIiicbka MoBa (3a mpodeciiHuM
CIIpSIMYBaHHSIM)» Ha 0a3l OCBITHbO-KBami(ikamiitHoro piBHSA «bakanxaBp» 3a
cnemiaigbHICTI0O  «IHXeHepiss MporpaMHOro 3a0e3nmedyeHHs» Ha 3a0YHOMY
BIJUIIJIEHH] TPUBAE MPOTATOM 1-ro cemecTpy 1 nependayae CKiIagaHHs 3aliKy.

HaBuannasg qucHUIUIIHI 301MCHIOETHCS 3 METOIO:

- OMaHyBaHHs, CHCTEMaTH3allli Ta 3aKPIMJICHHS OTPUMAHHUX TEOPETUIHUX
3HaHb Ta MPAKTHYHUX BMiHb 3 MPEIMETY «AHIIIKAChKa MOBa (3a mpodeciitHuM
CTIPSAMYBaHHSIM)»;

- MOTIMOJIEHHT TEOPETUYHMX 3HAaHb Y BIANOBIIHOCTI 13  3aJ1aHOIO
TEMaTHKOIO;

- popMyBaHHSI BMIHHSI 3aCTOCOBYBAaTHM TEOPETHUYHI 3HAHHS HA IMPaKTUI —
B IUCBMOBOMY Ta YCHOMY MOBJICHHI;

- opMyBaHHSI BMIHb 3aCTOCOBYBAaTH JOBIAHUKOBY JHTEpaTtypy Ta
MpaIlOBaTy 31 CJIOBHUKAMU;

- popmyBaHHsS ~Ti3HABaJbHUX BMiHb, CaMOCTIHHOCTI, CAMOKOHTPOJIIO,
BIIMOBIJATLHOCTI T4 OPTraHi30BaHOCTI;

- MATOTOBKH J0 CKJIAJIAHHS ITiICYMKOBOTO 3QJTIKY 3 JUCIUILTIHH.

[Iporpama mepenbayae B OCHOBHOMY CaMOCTIMHY poOOOTY CTYyJEHTIB —
75 roaMH, 3 ypaxyBaHHSAM 15 TOAMH ayIUTOpPHUX 3aHATh Ta 2 TOJUHU
KOHCYJIbTalIii.



METO/JIUYHI BKA3IBKH 10 POBOTHU 31 3bIPHUKOM

1 MeTa HaBYAHHSA AHIJIICHKIH MOBI Ha 3204YHOMY BiJIUIeHHI

OCHOBHOIO METOI0 HAaBUAHHS CTYJICHTIB AHIJINCHKIA MOBI B TEXHIYHOMY
BY31 € JJOCATHEHHS HUMH ITPAKTUIHOTO BOJIOJIIHHS HEIO, 110 B YMOBAaX 3a0YHOTO
HaBYaHHS oO3Ha4yae (OpMyBaHHS BMIHHS CaMOCTIHHO YHMTaTH AaHTTIHCHKOIO
JiTepaTypHi jpkepena 3a ¢axoM 3 METOW 3100yTTs iHdOpMallii, po3yMITH i
BIJIMOBITHO pearyBaTu Ha 0a30Bi muTaHHA 3 ¢axy. L[g mporpama mepenbayae
31€OUIBIIIOT0 CaMOCTIHY pOOOTY CTYAEHTIB, po0OOTa IiJi KEPIBHUIITBOM
BUKJIaJadya po3paxoBaHa IMiJl Yac TPOBEACHHS YCTAaHOBYMX Ta KOHTPOJIBHO-
3aKPITUTIOBATIbHUX 3aHSTh.

2 BUKOHAHHS KOHTPOJbHHUX 3aBJAaHb Ta 0(OPMIIEHHS KOHTPOJIbLHUX
pooiT

1. KilbKIiCTh KOHTPOJBHUX 3aBJaHb, 110 BUKOHYETHCS HAa KOXKHOMY KYpCl,
BHU3HAYA€THCS HABYAJIbHUM IIJIAHOM YHIBEPCUTETY.

2. KoxHE KOHTpOJIbHE 3aBJAaHHS y LbOMY IOCIOHHUKY IPOIOHYETHCS B
I'SITH BapiaHTax. Bu MOBHMHHI BUKOHATH OJWH 3 II'SITH BapiaHTIB 3TiTHO 3
OCTaHHIMU TUPpaMu CTYAEHTCHKOro MmUQpPy: CTyAeHTH, MmHUIp SIKUX
3aKiHYy€eThCs Ha 1 uM 2, BUKOHYIOTH BapiaHT Ne 1; Ha 3 4u 4 — BUKOHYIOTH
BapianT Ne 2; Ha 5 uu 6 — BapianT Ne 3; Ha 7 yu 8§ — BapianT Ne 4; Ha 9 yn 0 —
BapiaHT Ne 5; B okpeMOMy BUIIJKy BapiaHT pU3HAYA€ BUKIaAay.

3. BukonyBaT mnHCHbMOBI KOHTPOJBHI POOOTH MOTPIOHO B OKPEMOMY
3omuTi. Ha oOkianuHIl 30IIMTa HANMILITH CBOE MPI3BUIIE, TPYMYy, HOMEP
KOHTPOJIBHOT pOOOTH Ta BapiaHT.

4. KoutponbHi poOOTH TOBUHHI BHUKOHYBAaTHUCS AaKypaTHO, UITKUM
nouepkoM. IIpu BUKOHaHHI KOHTPOJIBHOI pOOOTH 3ajluIIaiiTe B 30IIUTI IOJS
JUIsl 3ayBaKEHb PELICH3EHTA.

5. 3BepTaiiTe yBary Ha 3pa3Ku BUKOHAHHS 3aBAaHb Ta JTOTPUMYUTECH iX.

6. He 3a0yBaiiTe ynTaTu AOJATKU 3 TPaMaTUYHUMHU CXEMaMH, BOHH JIOIO-
MO>KYThb BaM I11J1 YaC BUKOHAHHs Ta NOBTOPEHHSI MaTepialy.

/. BukoHaHl KOHTpOJIbHI pOOOTHM HampaBlglTe JIs TMEPEBIPKH B
YCTAHOBJICHI TEPMIHU.

8. Akmo kKoHTposbHA POOOTAa BUKOHAHA HE MOBHICTIO Yd 0€3 JOJepKaHHS
BKa31BOK, BOHA ITOBEPTAETHCS O€3 MEPEBIPKU.

3 BunpasJieHHsI po00OTH HA OCHOBI peleH3ii
1. ITicns oTpuMaHHS Bl pELEH3EHTa NEPEBIPEHOI KOHTPOJIBHOI POOOTH

YBOXHO TPOYUTANTE PEICH31I0, O3HAWOMTECs 13 3ayBa)KEHHSM peEICH3CHTA 1
poaHaTi3yHTe MOMUIIKH.



2. Kepyrounch BKa3iBKaMH pEILEH3EHTa, OMpaloiTe Ie pa3 HaBYaJbHHIMA
maTtepiai. Bei peuenns, e Oyiu 3po0JieH] MOMWIKH M HETOYHOCTI IepeKiiay,
MEPeNuIlliTh y BHUIPABICHOMY BHIJIAAI B KIHII IIi€l KOHTPOJBHOI POOOTH,
BKa3aBIIM Ha3By «Po00Ta Hajl MOMUIKAMUY.

3. KonTponbHi poOOTH € HaBYAJIbHUMHU JOKYMEHTaMH, SIKI MOTPiOHO
30epiratu. [lam’araiiTe, 1110 111 Yac 3aJIiKy MPOBOJIUTHCS MEPEeBipKa 3aCBOEHOTO
MaTepiaiy, IKUi yBIHIIOB O KOHTPOJIBHOI pOOOTH.

4 TlinroTroBKa 10 3aJ1iKy

[Tix yac mMiArOTOBKM /10 31Ky PEKOMEH]I0BAHO:

1) MOBTOPHO MPOYHMTATH Ta MEPEKJIACTH HAWOUIBII CKIAJHI TEKCTH Ta
NUTaHHS,

2) MeperyIsIHYTH Ta IIOBTOPUTH JICKCHYHHUI Ta TPAMAaTUYHUN MaTepial;

3) BHOIPKOBO BUKOHATH OKpPEMi BIIPABH 3 MiIPYUHUKA JUISI CAMOIICPEBIPKU;

4) NOBTOPUTH MUTAHHS, 110 BUHECEHI JIJIsI CITiBOCCIIN.

KOHTPOJIBHA POBOTA Ne 1

Jlyist Toro, MO0 MpaBUIILHO BUKOHATH POOOTY, HEOOXITHO 3aCBOITH TOJaHI
PO3JIUIM KYypCY aHTJIIHCHKOT MOBHU 3 PEKOMEHIOBAHOTO MiAPYYHHUKA.

1. OcaoBu ¢oneruku. I[IpaBuia dYWTaHHS TOJIOCHUX 1 TPUTOIOCHUX,
andasit. Imennuku. [IpaBuna yTBOpeHHs MHOKWHHU IMEHHHKIB.

2. Aptuxni. Heo3naueHuif, oO3HauY€HMM apTUKII, 3arajibHi MpaBuiIa
B)KMBaHHSI.

3. HdiecnoBo. [lousaTTs mpo giecnoBo Ta ioro yrBopeHHs. CTBepKyBajbHa,
nuTalbHA Ta 3amepeuHa gopmu aieciiona to be ito have B Heo3HaueHOMy 4Yaci
anriiicekoi moBu (Present, Past, Future Simple). 3aiimennuku. Bka3iBHi (this,
that, 3 iMmeHHHKaMHK ), 0COOOBI1, MPUCBINHI 3aMEHHUKH.

4, Yucniauku. KiJbKICHI, TOPSIAKOBI YMCIIBHUKH, IIpaBWIa I1XHBOTO
yrBopeHHs. [IpukMerHuku. SIKicHI Ta BIAHOCHI NPUKMETHUKH, IIPaBHIIA
B)KMBaHHS B peueHHI. [[puKMeTHUKH, 1110 BKa3yIOTh Ha PO3Mip, KOJIip, BIK.

5. Mopsimox cmiB y pedenni. Crnonyunuku but, and. Beenenus 06a3oBoi
JICKCHKH.

6. 3miuyBaHi, He3JiuyBaHI IMEHHMKU. Biaminku imeHHuKiB. [IpucBiliHmii
BiJIMIHOK. ¥ TBOPEHHS IMEHHHUKIB 3a IOMIOMOTO¥0 Cyikcarii.

7. Heo3naueni uvacu. CTBepaXyBalbHa, NMUTAJbHA Ta 3amnepedHa (opmu
nieciiB B Present, Past, Future Simple; naka3oBuii crocio mieciiB. BuBueHHs
HENPaBUIBHUX JIECIIB.

8. Ctyneni mopiBHAHHSA NpukMeTHUKIB. [IutameHi cioa What? Where?
When? How? Why? How much / how many?

9. [lpwitMeHHUKH MicIsl, HapsAMKY Ta dacy (on, in, under, to, up, down,
over, across, before, after).



10. Tpuani yacu. CrTBepIKyBallbHa, MNHTalbHA Ta 3amepedyHa (Gopmu
niecniB B Present, Past, Future Continuous.

11. MopganeHi mieciaoBa. OcoOIUBOCTI B)KUBAHHS MOJAJIBHUX MIECHIIB Ta Ta
IXHIX €KB1BaJICHTIB.

12. Tumn mmraneHuX pedeHb. Ctpykrypu There is / There are. Cnocobu
CIIOBOTBOPEHHS.

3pa3ok BukoHaHHs 1 (10 BnpasBu 3)
The engineers are to study the ImxeHepw MOBHHHI BHUBYHMTH IPOO-
problem of using cosmic rays. JeMy BHKOPHUCTaHHS KOCMIYHHX
IIPOMEHIB.
Are 0 — exBiBaJICHT MOJAJIBHOTO JIi€CTIOBAa MUSL.

3pa3ok BUKOHAHHSA 2 (10 BIpaBH 4)
When the engineer gets the Komau imkeHep oTpuMye HEOOXIiAHY
necessary specification he begins crenudikariro, BiH MOYHMHAE CBOIO
his work. poboTy.

3pa3ok BUKOHAHHSA 3 (10 BIPaBH 5)
Scientific research and development  Hayxose docriosicenns ma pozeumox

BapianT 1

|. @) nocmaeme i niokpecnime npasunvHuil apmuKib, 0e ue NOMPIOHO:

... English king Richard the Lion-Hearted was ... tall, strong man. He was
very proud of his strength and liked to show ... people how strong he was. Once,
as he was riding on ... horseback in ... countryside, his horse lost ... shoe.
Luckily he was not far from ... village and soon he found ... blacksmith. «Give
me ... good horseshoe», he said to ... man. ... blacksmith gave ... king ...
horseshoe. Richard took it in his hand and broke it in two. «This horseshoe is no
good», he said, «give me ... better one». ... blacksmith did not say ... word. He
gave ... king ... other horseshoe, but Richard broke it, too. The blacksmith gave
him a third shoe. This time Richard was satisfied and ordered ... blacksmith to
shoe his horse. When ... work was done, Richard offered ... man ... coin. ...
blacksmith took ... coin between his fingers and broke it in two. Now it was
Richard’s turn to be surprised. He took ... larger coin out of his pocket and
handed it to ... blacksmith. ... man broke it, too, saying, «This coin is no good,
give me ... better one». Richard smiled and gave ... man ... gold coin.

0) nocmasme 00 meKcmy y 4acmuHti a) n’sms 3anUMans Pi3HO20 MUNY.

I1. &) 6udepimo npasunvruit eéapianm:

1. I suppose you know him well — probably than anybody else.
A) better B) more well
2. He spoke English badly — than expected.

A) worse B) more badly



3. | can’t understand what you’re saying. Could you speak a bit ?
A) slowlier B) more slowly

4. Betty is than Jane, but Kate is of all.
A) a hard-working B) less hard-working C) the least hard-working
5. China has got population in the world.

A) alarge B)alarger C) the largest
6. Of the three girls, this one is the
A) pretty B) prettier C) prettiest
7. Which is . five, fifteen or fifty?
A) little B) less C) the least

0) 3naudimo ma niOKpecaimov ROMUJIKY, 6KAXCIMb NPAGUTbHULL 6APIAHM.
Ilepeknadime peuenns.

1. The more you study, the smarter you will become.

2. Ann plays the piano very well, but Christina plays more well.

3. Could you speak a little more loudly?

4. What we need is a more good job.

5. Einstein is one of intelligent scientists who ever lived.

1. Ilepenuwiimey peuenns, niokpeciimov € KOMCHOMY 3 HUX MOOATbHE
0i€cno60 uu ioz2o exsieanenm. Ilepexnadime peuennsn yKpaincoKow mMogon.

1. They must have been told to use monochromatic green filter.

2. She can’t be studying the laws of motion.

3. He should have measured that value more accurately.

4. The experiments need not have been finished.

5. The group may be researching the phenomenon.

IV. Ilocmaeme Odiccnoso 6 Oyyckax y nompionomy uaci. Ilepexnadimo
PeUeHHs YKPAIHCHbKOI0 MOBOI0.

1. When morning came, the storm already (to stop), but the snow still (to fall).

2. Yesterday by eight o’clock he (to finish) all his homework, and when | (to
come) to his place at nine, he (to read).

3. I (not to be) to my home town for five years.

4. The rain (to stop) by the time we (to reach) home.

5. The hostess said that one more guest (to expect).

6. All the texts (to look) through yesterday and not a single mistake (to
find).

V. Ilepenuwiimso i nucomo60 nepexiadimy mexkcm.

WHAT IS A COMPUTER?

A computer is a machine with an intricate network of electronic circuits
that operate switches or magnetize tiny metal cores. The switches, like the
cores, are capable of being in one or two possible states, that is, on or off;
magnetized or demagnetized. The machine is capable of storing and
manipulating numbers, letters, and characters (symbols).
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The basic idea of a computer is that we can make the machine do what we
want by inputting signals that turn certain switches on and turn others off, or
magnetize or do not magnetize the cores.

The basic job of computers is processing of information. For this reason
computers can be defined as devices which accept information in the form of
instructions, called a program, and characters, called data, perform
mathematical and/or logical operations on the information, and then supply
results of these operations. The program, or part of it, which tells the computers
what to do and the data, which provide the information needed to solve the
problem, are kept inside the computer in a place called memory.

Most of the computers, whether large or small, have three basic capabilities.

First, computers have circuits for performing arithmetic operations, such as:
addition, subtraction, division, multiplication and exponentiation.

Second, computers have a means of communicating with the user. After all, if
we couldn’t feed information in and get results back, these machines wouldn’t
be of much use. The computer’s input device (a disk drive) reads the
information into the computer. For outputting information two common
devices used are: a printer, printing the new information on paper, and LCD
display, which shows the results on a TV-like screen.

Third, computers have circuits which can make decisions. The kinds of
decisions which computer circuits can make are not of the type: «Who would
win the war between two countries?» or «Who is the richest person in the
world?» Unfortunately, the computer can only decide three things, namely: Is
one number less than another? Are two numbers equal? and, Is one number
greater than another?

A computer can solve a series of problems and make thousands of logical
decisions without becoming tired. It can find the solution to a problem in a
fraction of the time it takes a human being to do the job.

A computer can replace people in dull, routine tasks, but it works according
to the instructions given to it. There are times when a computer seems to
operate like a mechanical «brain», but its achievements are limited by the
minds of human beings. A computer cannot do anything unless a person tells it
what to do and gives it the necessary information; but because electric pulses
can move at the speed of light, a computer can carry out great numbers of
arithmetic-logical operations almost instantaneously. A person can do the
same, but in many cases that person would be dead long before the job was
finished.

Vocabulary Notes
intricate — ckiaHMiA, 3aTUTyTaHU I
to operate switches — npuBoOUTH y Iif0 TepeMHUKaUi
exponentiation — 3BeieHHS Y CTYIiHb
instantaneously — muTTEBO



V1. /laitme 6ionogiodi na 3anumannsn:

. What is a computer?

. What are the main functions of a computer?

. In what way can we make the computer do what we want?
. What is the basic task of a computer?

. In what form does a computer accept information?
. What is a program?

. What are data?

. What is memory?

. What three basic capabilities have computers?

10. What are the computer’s achievements limited by?

OO ~NOOThWNPE

BapianT 2

|. a) nocmaeme i niokpecnime npasunvHuil apmuKib, 0e ye NOMPIOHO:

In ... fifteenth century ... people knew only three continents: ... Europe, ...
Asia and ... Africa. They knew nothing about such ... big continent as ...
America. ... man who discovered ... America was born in 1451 in ... Italy. His
name was Christopher Columbus. He became ... sailor at ... early age. Knowing
that ... Earth was round, he decided to reach ... India sailing to ... west. He tried
to arrange ... expedition, but did not have ... money, and nobody wanted to help
him. At last ... king of ... Spain gave him ... money for ... expedition. He set ...
sail in 1492. ... voyage was very dangerous and difficult. On ... 12th of ...
October his ship reached ... land. When they landed, they saw ... strange trees
and ... flowers. ... men and ... women with ... olive-coloured skins gathered
around ... sailors and looked at them with ... great surprise. Columbus was sure
that he had discovered ... new way to ... India. Some time later ... other sailor
reached ... America. ... name of ... sailor was Amerigo Vespucci. He understood
that it was ... new continent.

0) nocmaeme 00 mexKcmy y 4acmuHi a) n’ams 3anUMAaHDb Pi3HO20 MUNY.

I1. &) 6ubepimo npasunvnuit eapianm:

1. My mother was feeling tired last night so she went to bed than
usual.
A) earlier B) more early
2. If you want to find your way around the city , you should buy the
map of it.
A) easilier B) more easily
3. The three musicians play on stage.
A)anew B)anewer C)the newest
4. I’m not so as a horse.
A) strong B) stronger C) the strongest
5. This room is not so as that one on the first floor.

A) comfortable B) more comfortable C) the most comfortable

10



6. Happiness is than money.
A) important B) more important C) the most important
7. This coat is of all.
A) an expensive B) a less expensive C) the least expensive

0) 3Hadimb ma nioKpecaimv HOMUIKY, 6KAMNCIMb NPAGUILHUIL 8APIAHM.
Ilepexnadimo peuenns.

1. The sooner you take your medicine, the better you will feel.

2. Watermelons are much sweeter than lemons.

3. If you don’t want to be tired in the morning, you should go to bed more
early.

4. Nick looks elder than his older brother.

5. You should be far more serious when you talk to your partner.

l11. llepenuwims peuenns, niokpeciimv 6 KOMCHOMY 3 HUX MOOAIbHE
0i€c1060 uu io2o ekeisanenm. Ilepeknadimo peuenns yKpaincoKkow moeoro.

1. The question must be causing some problems.

2. She should have been answered at once.

3. You needn’t have asked so many questions.

4. They may be asked to solve the problem.

5. He couldn’t have answered so bad.

IV. Ilocmaeme Odiccnoso 6 Oyyckax y nompionomy uaci. Ilepexnadimo
peueHHA YKPAIHCbKOI0 MOGOIO0.

1.1 (to walk) about an hour when | (to see) a little house not far from the
river.

2. When he (to read) the newspaper, he (to give) it to his brother.

3. Everybody (to be) at the door of the museum, but my friend (not yet to
come).

4. We (to drink) tea when the telephone (to ring).

5. The newspaper said that an interesting exhibition (to open) in the Her-
mitage the next week.

6. This new dictionary (to sell) everywhere now.

V. Ilepenuwimso i nucomo60 nepexiadimy mexkcm.

DATA PROCESSING
AND DATA PROCESSING SYSTEMS

The necessary data are processed by a computer to become useful
information. In fact this is the definition of data processing. Data are a collection
of facts — unorganized but able to be organized into useful information.
Processing is a series of actions or operations that convert inputs into outputs.
When we speak of data processing, the input is data, and the output is useful
information. So, we can define data processing as a series of actions or
operations that converts data into useful information.
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We use the term data processing system to include the resources that are used
to accomplish the processing of data. There are four types of resources: people,
materials, facilities, and equipment. People provide input to computers, operate
them, and use their output. Facilities are required to house the computer
equipment, people and materials.

The need for converting facts into useful information is not a phenomenon
of modern life. Throughout history people have found it necessary to sort data
into forms that were easier to understand. For example, the ancient Egyptians
recorded the ebb and flow of the Nile River and used this information to predict
yearly crop yields. Today computers convert data about land and water into
recommendations to farmers on crop planting. Mechanical aids to computation
were developed and improved upon in Europe, Asia, and America throughout
the seventeenth, eighteenth, and nineteenth centuries. Modern computers are
marvels of an electronics technology that continues to produce smaller, cheaper,
and more powerful components.

Basic data processing operations

Five basic operations are characteristic of all data processing systems:
inputting, storing, processing, outputting, and controlling. They are defined as
follows.

Inputting is the process of entering data, which are collected facts, into a data
processing system. Storing is saving data or information so that they are
available for initial or for additional processing. Processing represents performing
arithmetic or logical operations on data in order to convert them into useful in-
formation. Outputting is the process of producing useful information, such as a
printed report or visual display.

Controlling is directing the manner and sequence in which all of the above
operations are performed.

Data storage hierarchy

It is known that data, once entered, are organized and stored in successively
more comprehensive groupings. Generally, these groupings are called a data
storage hierarchy. The general groupings of any data storage hierarchy are as
follows.

1. Characters, which are all written language symbols: letters, numbers, and
special symbols. 2. Data elements, which are meaningful collections of related
characters. Data elements are also called data items or fields. 3. Records, which
are collections of related data elements. 4. Files, which are collections of related
records. A set of related files is called a data base or a data bank.

Vocabulary Notes
facilities — nmpunanus, MOKIMBOCTI
to house — po3mimnryBaru
data storage hierarchy — iepapxis (mocnizoBHiCTb)3amam’ ITOByBaHHs iHpopMarii (1aHux)
items — efeMeHT, CKJIaJ0Ba YacTHHA
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VI. /laiime i0onoeioi na 3anumanns:

. What is processing?

. What is data processing?

. What does the term of data processing system mean?

. What basic operations does a data processing system include?
. What is inputting / storing / outputting information?

. What do you understand by resources?

. How did ancient Egyptians convert facts into useful information?
. When were mechanical aids for computation developed?

. What does data storage hierarchy mean?

10. What are the general groupings of any data storage hierarchy?

Coo~No ok wpNDPE

BapianTt 3

|. @) nocmaeme i niokpecnime npasunvHuil apmuKib, 0e ue NOMPIOHO:

| knew ... man who had travelled very much in his life. He had visited many ...
countries in ... east and in ... west. He loved ... children and often told them ...
interesting stories. | remember some of ... stories which he told me. One of ...
stories was about ... adventure he had had in ... London. He was ... young man at
that time and was interested in ... his tory of ... architecture. One day he visited one
of ... towers of ... Houses of ... Parliament. He came out on to ... balcony of ... tower
and began to look at ... ornaments on ... walls. Then he climbed up on ... roof.
Suddenly ... man came running to him and seized him by ... arm. He began
shouting something in ... English, but my friend knew only a few words of ...
English and did not understand him. ... Englishman called ... policeman. ... fact was
that he thought that ... Russian tourist wanted to kill himself by jumping from ... top
of ... tower. Later, when everything became clear, they laughed ... lot over it.

0) nocmaeme 00 mexKcmy y 4acmuHi a) n’ams 3aNUMAHDb Pi3HO20 MUNY.

I1. &) 6ubepimo npasunvruit eapianm:

1. The you start, you’ll finish.,
A) the sooner B) the more soon
A) the quicklier B) the more quickly

2. This camera costs the other one.
A) twice more than B) twice as much as
3.The weather was not very yesterday, but it’s today.

A) good B) better C) the best

4. Of the two skirts, that one is the
A) smart B) smarter C) smartest

5. Do you know that the Dead Sea is sea.
A) asalty B)asaltier C) the saltiest

6. Thisis problem she has ever had.
A) agreat B)agreater C) the greatest

7. My case isn’t very .Yours is :
A) heavy B) heavier C) the most heavy
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0) 3Hadimb ma nioKpecaimv NOMUIKY, 6KAMNCIMb NPAGUILHUIL 8APIAHM.
Ilepexnadimo peuenns.

1. The weather is much more worse today.

2. You should practise more often if you want to improve your language.

3. It’s becoming more and more difficult to find a job.

4. | know my jokes are bad, but yours are badder.

5. She is not as easy to get on with than her sister.

1. Iepenuwiime peuenns, niokpecnimov 6 KOMCHOMY 3 HUX MOOATbHE
0i€cnoeo uu iozo exsieanienm. Ilepexnadimo peuenns yKpaincoKor mMoe60io.

1. They ought to have been invited for the conference.

2. We needn’t have made all the measurements so accurately.

3. He couldn’t be using laser in his research.

4. The students must have been explained the rule.

5. She might have proved that the calculations were wrong.

IV. Ilocmaeme Odieccnoso 6 Oyyckax y nompionomy uaci. Ilepeknadimo
PeUeHHA YKPAIHCHKOI0 MOBOI0.

1. Light (to travel) more quickly than sound.

2. When | (to come) to Pete’s house last Sunday, he (to read) a new book.

3. She (to teach) at our school for twenty years now.

4. He (to begin) to write his composition at three o’clock. It is already
eleven, and he still (to write) it.

5. 1 am sure | (to ask) at the lesson tomorrow.

6. They told me that the new student always (to speak) of.

V. Ilepenuwimo i nucomo60 nepexniadims mexkcm.

COMPUTER SYSTEMS ARCHITECTURE

As we know all computer systems perform the functions of inputting,
storing, processing, controlling, and outputting. Now we’ll get acquainted with
the computer system units that perform these functions. But to begin with let’s
examine computer systems from the perspective of the system designer, or
architect.

It should be noted that computers and their accessory equipment are designed
by a computer system architect, who usually has a strong engineering
background. As contrasted with the analyst, who uses a computer to solve
specific problems, the computer system architect usually designs computer that
can be used for many different applications in many different business. For
example, the product lines of major computer manufacturers such as IBM,
Digital Equipment Corporation and many others are the result of the efforts of
teams of computer system architects.

Unless you are studying engineering, you don’t need to become a computer
system architect. However, it is important that as a potential user, applications
programmer or systems analyst you understand the functions of the major units
of a computer system and how they work together.
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Types of computers

The two basic types of computers are analog and digital. Analog computers
simulate physical systems. They operate on the basis of an analogy to the
process that is being studied. For example, a voltage may be used to represent
other physical quantities such as speed, temperature, or pressure. The response
of an analog computer is based upon the measurement of signals that vary
continuously with time. Hence, analog computers are used in applications that
require continuous measurement and control.

Digital computers, as contrasted with analog computers, deal with discrete
rather than continuous quantities. They count rather than measure. They use
numbers instead of analogous physical quantities to simulate on-going, or real-
time processes. Because they are discrete events, commercial transactions are in a
natural form for digital computation. This is one reason that digital computers
are so widely used in business data processing.

Machines that combine both analog and digital capabilities are called hybrid
computers. Many business, scientific, and industrial computer applications rely
on the combination of analog and digital devices. The use of combination analog
devices will continue to increase with the growth in applications of mi-
croprocessors and microcomputers. An example of this growth is the trend
toward installing control systems in household appliances such as microwave
ovens and sewing machines. In the future we will have complete indoor climate
control systems and robots to do our housecleaning. Analog sensors will provide
inputs to the control centres of these systems, which will be small digital
computers.

Vocabulary Notes
architect — po3poOHUK apXiTEKTypH (CHCTEMH, CTPYKTYPH)
engineering background — TexniuHa miaroroBka, KBasigikaris
analyst — aHaiTUK, CHCTEMHUI PO3POOHUK
0N-goiNng Processes — TpUBajIKii, MOCTIMHMIA, Oe3MepepBHIUIA MPOIIEC
household appliances — mo6yroBi npunau

VL. /laitme 6ionogidi na 3anumannsa:

. Who designs computers and their accessory equipment?

. What is the role of an analyst?

. Is it necessary for a user to become a computer system architect?
. What functions do computer systems perform?

. What types of computers do you know?

. What is the principle of operation of analog computers?

. How do digital computers differ from analog computers?
. Where are digital and analog computers used?

. What are hybrid computers?

10. Where do they find application?

15
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BapianT 4

|. @) nocmaeme i niokpecnimo npasunvHuil apmukis, e ue OMPIOGHO:

In the old days it was necessary for all ... parts of ... city to be close together,
in order that ... defensive wall might surround it, and ... streets, therefore, were
made as narrow as possible. Many ... European cities began with ... walls round
them. But in ... America there was little need for ... defensive walls, and that’s
why many ... American cities have been built on ... regular plan, modified a little
according to ... natural surroundings. ... streets in ... American cities, instead of
having ... names, are numbered, and so when one has once understood ... plan of
... American city, it is very easy to find one’s way from one part of it to ... other.
... old part of ... New York lies in ... southern half of ... Manhattan Island, and
there ... streets are narrow and twisted, as in ... towns of ... Old World. But ...
rest of ... streets, with but few exceptions, all run in ... straight lines. There is one
street in ... city, however, that does not follow ... straight line. And that is
Broadway, ... New York’s most famous street. It starts within sight of ... dancing
waters of ... harbour and runs between ... tall skyscrapers in ... northwestern
direction. This great street is ... longest in ... world.

0) nocmaeme 00 mexKcmy y 4acmuHi a) n’ams 3anUMAHDb PI3HO20 MUNY.

I1. @) 6ubepimo npasunvrui eapianm:
1. Asnail is than a tortoise.
A) slower B) more slow
2. I’d like to change cars :
A) oftener B) more often

3. That painting is than the one in your living room.
A) impressive B) less impressive C) the least impressive
4. She speaks in voice than the last time.
A)aloud B)alouder C) the loudest
5. They leave way they can.
A) aquick B)aquicker C) the quickest
6. These trousers are too small. | need size.
A) alarge B)alarger C) the largest
7. He is also person than Paul.

A) apolite B)amore polite C) the most polite

0) 3Haudimbv ma nioKpecaimo NOMUIKY, 6KAXNCIMb NPAGUILHUN 8APIAHM.
Ilepexnadimo peuenns.

1. | feel much better today than I did last week.

2. Flying is much fast than travelling by car.

3. He drives more slowly as his brother.

4. She speaks French much more rapidly than she does German.

5. Their house is far better than ours.
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1. Ilepenuwiimo peuennsa, niokpeciimo 6 KOMCHOMY 3 HUX MOOAIbHE
0i€c1060 uu io2o ekeisanenm. Ilepeknadime peuenus yKpaincoKow moeoio.

1. You must not make notes in the books.

2. The rocket is able to travel in a vacuum even better than it can through
the air.

3. She is to come here at five o’clock.

4. You should know this material perfectly well.

5. Computers can be used to make 3-D graphics colourful and interesting.

V. Ilocmaeme Odiccnoso 6 Oyyckax y nompionomy uaci. Ilepeknadimo
DeUeHHA YKPAIHCbKOI0 MO6OI0.

1. We (to help) our librarian to put the books in the right order for three days
already, but we (to arrange) only half the books.

2. What you (to do) when | (to come) in?

3. He (to wait) for fifteen minutes when at last he (to see) her at the end
of the platform.

4. By the end of the year he (to read) about two hundred pages.

5. Two new engineers just (to introduce) to the head of the department.

6. Don’t worry, everything will be all right: the children (to take) to the
theatre by the teacher and they (to bring) back to school in the evening.

V. Ilepenuwims i nucomo8o nepeknadimo mexcm.

STORAGE UNITS

Computer system architecture is organized around the primary storage unit
because all data and instructions used by the computer system must pass
through primary storage. Our discussion of computer system units will begin
with the functions of the primary and secondary storage units. This leads to the
examination of the central processing unit and from there to the consideration of
the input and output units. Therefore, the sequence in which we’ll describe the
functional units of a digital computer is: 1)storage units, primary and
secondary; 2) central processing unit; 3) input and output units.

As you know, there are primary and secondary storage units. Both contain
data and the instructions for processing the data. Data as well as instructions
must flow into and out of primary storage.

Primary storage is also called main storage or internal storage. The specific
functions of internal storage are to hold (store): 1) all data to be processed,;

2) intermediate results of processing; 3) final results of processing; 4) all the
instructions required for on-going process. Another name for primary storage is
memory, because of its similarity to a function of the human brain. However,
computer storage differs from human memory in important respects. Computer
memory must be able to retain very large numbers of symbol combinations,
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without forgetting or changing any details. It must be able to locate all its
contents quickly upon demand. The combinations of characters, that is,
the letters, numbers, and special symbols by which we usually communicate,
are coded. The codes used by computer designers are based upon a number
system that has only two possible values, 0 and 1. A number system with only
two digits, 0 and 1, is called a binary number system. Each binary digit is called
a bit, from Binary digiT. As the information capacity of a single bit is limited to
2 alternatives, codes used by computer designers are based upon combinations of
bits. These combinations are called binary codes. The most common binary
codes are 8-bit codes because an 8-bit code provides for 2/8, or 256 unique
combinations of I’s and O’s, and this is more than adequate to represent all of
the characters by which we communicate.

Data in the form of coded characters are stored in adjacent storage
locations in main memory in two principal ways: 1) as «strings» of characters —
in bytes; and 2) within fixed-size «boxes» — in words. A fixed number of
consecutive bits that represent a character is called a byte. The most common
byte size is 8-bit byte. Words are usually 1 or more bytes in length.

Secondary storage. Primary storage is expensive because each bit is
represented by a high-speed device, such as a semiconductor. A million bytes
(that is, 8 million bits) is a large amount of primary storage. Often it is necessary
to store many millions, sometimes billions, of bytes of data. Therefore slower,
less expensive storage units are available for computer systems. These units are
called secondary storage. Data are stored in them in the same binary codes as in
main storage and are made available to main storage as needed.

Vocabulary Notes
intermediate results — mpomixHi pe3ynbTaTH
0N-goiNng Processes — TpuBajIMii, MOCTIHMIA, Oe3MepepBHIUI MPOIIEC
adjacent — cycinniit
strings of characters — moci10BHICTh CHMBOJIIB

V1. /laitme 6ionogiodi na 3anumanns:

. What are the functional units of a digital computer?
. What units make up the central processing unit?

. How is computer system organized?

. What are the two main types of storage units?

. What do they contain?

. What is the function of a primary storage?

. Why is primary storage often called memory?

. In what respect does computer memory differ from human memory?
. What are codes based on?

10. What is secondary storage and what is it used for?

18
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BapianT 5

|. @) nocmaeme i niokpecnimo npasunvnuil apmuxis, e ue NOMPIOGHO:

Robert Burns, ... son of ... small farmer in Ayrshire, was born on ... 25th of
... January, 1759. His parents were poor, so Burns did not get a good education.
He worked hard as ... ploughboy. He was fond of reading and always had ...
ballad book before him at ... dinner. After ... death of his father Robert and his
brother and sisters took over ... farm together. Working in ... fields Burns wrote
many wonderful songs. However, things became so bad on ... farm, that ... poet
decided to go to ... Jamaica hoping to get ... job on ... plantation there. Luckily
some friends helped Burns to publish ... book of poems. ... book was noticed and
praised highly. In 1786 Burns went to ... Edinburgh, and his book of poems
unlocked ... doors of ... rich Edinburgh houses to a peasant with such a
wonderful talent. In 1788 he married Jean Armour and spent ... peaceful and
happy year. ... rest of his life story is ... tale of ... poet’s hardships. ... hard life
ruined ... poet’s health, and on ... 21st of ... July, 1796 he died at ... age of thirty-
seven.

0) nocmaeme 00 meKcmy y 4acmuHi a) n’ams 3anUMAaHDb Pi3HO20 MUNY.

I1. &) 6udepimo npasunvruit eéapianm:

1. The younger you are, the itis to learn.
A) easier B) more easy
2. I’m getting

A) fatter and fatter B) more and more fat
3. We are going :
A) slower and slower B) more and more slowly

4. A whale is than a dolphin.
A) long B) longer C) the longest
5.1s it to go there by car or by train?
A) cheap B) cheaper C) the cheapest
6. Money is , but isn’t thing in life.
A) important  B) more important C) the most important
7. Which instrument makes music in the world?

A) a beautiful B) more beautiful C) the most beautiful

0) 3naudimo ma nioKpecaimov NOMUJIKY, 6KAXNCIMb NPAGUTIbHUN 8APIAHM.
Ilepexnadimo peuenns.

1. A train is the uncomfortablest place to sleep in.

2. We are going to travel by car. I1t’s much cheaper.

3. It’s best picture I’ve ever seen.

4. This meal is much better than as the one | ate yesterday.

5. Jack has eaten three times as many hamburgers as Jim.
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1. Ilepenuwiimo peuenns, niokpeciimo 6 KONCHOMY 3 HUX MOOAIbHE
0i€cnoeo uu iozo exsisanienm. Ilepeknadims peuennsn yKpaincoKorw mMoeoro.

1. Advances in technology can have a great impact on the world if they are
made available to all people.

2. They must have forgotten all about it.

3. As | was to be at the Academy at 9 sharp | had to take a taxi.

4. Every student should read this article.

5. We may discuss the problem at the meeting.

V. Ilocmaeme Odiccnoso 6 Oyyckax y nompionomy uaci. Ilepeknadimo
PeUeHHA YKPAITHCHKOI0 MOBOI0.

1. The play (not yet to begin) and the people (to talk) in the hall.

2. Yesterday | (to buy) a new pair of gloves, as | (to lose) the old ones.

3. When | (to come) to his house, they (to tell) me that he (to leave) an hour
before.

4. On checking up his answers he (to find) out that he (to make) several
mistakes.

5. Two reports on Hemingway’s stories (to make) in our group last month.
Both of them were very interesting.

6. He said that Grandmother’s letter (to receive) the day before.

V. Ilepenuwtiimso i nucomo60 nepexiadimy mexkcm.

INPUT DEVICES

There are several devices used for inputting information into the computer: a
keyboard, some coordinate input devices, such as manipulators (a mouse, a track
ball), touch panels and graphical plotting tables, scanners, digital cameras, TV
tuners, sound cards etc.

When personal computers first became popular, the most common device
used to transfer information from the user to the computer was the keyboard. It
enables inputting numerical and text data. A standard keyboard has 104 keys and
three more ones informing about the operating mode of light indicators in the
upper right corner.

Later when the more advanced graphics became to develop, user found that a
keyboard did not provide the design capabilities of graphics and text
representation on the display. There appeared manipulators, a mouse and a
track ball, that are usually used while operating with graphical interface. Each
software program uses these buttons differently.

The mouse is an optic-mechanical input device. The mouse has three or two
buttons which control the cursor movement across the screen. The mouse
provides the cursor control thus simplifying user’s orientation on the display.
The mouse’s primary functions are to help the user draw, point and select
images on his computer display by moving the mouse across the screen.

In general software programs require to press one or more buttons,
sometimes keeping them depressed or double-click them to issue changes
in commands and to draw or to erase images. When you move the mouse across
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a flat surface, the ball located on the bottom side of the mouse turns two rollers.
One is tracking the mouse’s vertical movements, the other is tracking horizontal
movements. The rotating ball glides easily, giving the user good control over the
textual and graphical images.

In portable computers touch panels or touch pads are used instead of
manipulators. Moving a finger along the surface of the touch pad is transformed
into the cursor movement across the screen.

Graphical plotting tables (plotters) find application in drawing and inputting
manuscript texts. You can draw, add notes and signs to electronic documents by
means of a special pen. The quality of graphical plotting tables is characterized
by permitting capacity, which is the number of lines per inch, and their
capability to respond to the force of pen pressing.

Scanner is used for optical inputting of images (photos, pictures, slides) and
texts and converting them into the computer form.

Digital video cameras have been spread recently. They enable getting video
images and photographs directly in digital computer format. Digital cameras give
possibility to get high quality photos.

Sound cards produce sound conversion from analog to digital form. They are
able to synthesize sounds. Special game-ports and joysticks are widely used in
computer games.

Vocabulary Notes
graphical plotting tables — rpadiuni rmranmeT:n
operating mode — pexum po6oTH
touch panel — cercopra nmanesnb
permitting capacity — po3ainbHa 31aTHICTh

V1. /laitme 6i0onogidi na 3anumanns:
1. What devices are used for inputting information into the computer?
2. What was the most common device in early personal computers?
3. What is the function of a keyboard?
4. Why do many users prefer manipulators to keyboard?
5. How does the mouse operate?
6. What is its function?
7. What role does the ball on the bottom of the mouse play?
8. What is used in portable computers instead of manipulators?
9. What is the touch pad’s principle of operation?
10. Where do graphical plotting tables find application?

INEPEJIIK 3AITMTAHb 10 CHIBBECIAN
I3 BAPIAHTAMMU BIANNOBIAEHN / THE LIST OF QUESTIONS /

1. What are the main parts of the computer? — The main parts of
the computer are CPU, ALU, control unit and peripherals.

2. What types of computer do you know?

e Supercomputer (the most powerful type of mainframe);
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e Mainframe (large, very powerful, multi-user i.e. can be used by many
people at the same time, multi-tasking i.e. can run many programs and process
different sets of data at the same time);

e Minicomputer (smaller than a mainframe, powerful, multi-user, multi-
tasking);

e Personal computer (PC) (single user);

e Desktop computer (suitable size for sitting on an office desk)
Workstation (most powerful type of desktop, used for graphic design, etc.)
Portable (can be carried around, can operate with batteries) Laptop (large
portable, can be rested on user’s lap);

e Notebook (size of a sheet of notebook paper);

e Handheld (can be held in one hand) Pen-based (main input device is
an electronic pen);

e PDA (personal digital assistant, has functions such as task lists, diary,
address book).

3. What is software? — Software is the word used to refer to programs
(sets of computer instructions written in a computer language) and data that is
input, processed and output by a computer system.

4. What information is lost when the computer is switched off
unexpectedly?

5. What is the typical unit used to measure RAM memory and storage
memory?

6. What is the ALU? What does it do? — Arithmetic and logic unit (ALU) is
adigital circuit that performs integer arithmetic and logical operations. The
ALU is a fundamental building block of the central processing unit of a computer.

7. Who is a newbie? — A newbie is a person who can’t deal with computer
properly.

8. What kind of computer will you recommend your friend to try?

9.Are you a newbie or a computer-literate person? What does
«a computer-literate person» mean?

10. Which one would you like to buy: a laptop or a desktop? Why?

11. What can a modern computer do?

12. Does anybody in your group own a modern laptop? What are the main
features of it?

13. What do you use your computer for?

14. How many digits does a binary system use? — It uses two digits — 1 and 0.

15. What is a «bit»? — The smallest unit of information is a bit.

16. What is a program? — A program is a set of instructions.

17. What devices are used for inputting information?

18. What devices are used for outputting information?

19. What was the very first calculating device? — The abacus was the first
calculating device.

20. What is storing information?
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Homaroxk A

Tab6anus Haify;kMBaHIIIUX HenpaBWIbHUX giecais /Irregular Verbs/

I. Infinitive I1. Past Indefinite | I11. Past Participle
be Oyt was (were) been
become CTaBaTu became become
begin MOYNHATH began begun
break po3outu broke broken
bring IPUHECTH brought brought
build OynyBatu built built
buy KyIyBaTH bought bought
catch JIOBUTHU caught caught
choose BUOHMpATH chose chosen
come IPUXOAUTH came come
cut pizatu cut cut
deal MAaTH CIIPaBy 3 dealt dealt
do poouTH did done
drink MATH drank drunk
drive PUBOIUTH B Jito | drove driven
eat ictu ate eaten
fall naJgaTu fell fallen
feed roJyBaTu fed fed
feel MOYyBaTH felt felt
find 3HAXOJIUTH found found
forget 3a0yBaTu forgot forgotten
get OTpUMYBATH got got
give JaBaTu gave given
go 1TH, XOOUTH went gone
have MaTH had had
hear qyTH heard heard
hit yAapATH hit hit
hold TPUMATH held held
keep 30epiratu kept kept
know 3HATU knew known
lead BECTH led led
learn BUUTH learnt/learned learnt/learned
leave 3aJIMIIATH left left
let JO3BOJIATH let let
lose ryouTH lost lost
make poouTH made made
mean O3HaYaTH meant meant
meet 3yCTpivyaTu met met
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I. Infinitive I1. Past Indefinite | I11. Past Participle
pay TUIATUTH paid paid
put KJ1acTu put put
read YUTATH read read
rise i AHIMATHCS rose risen
run oirtu ran run
say TOBOPHUTHU said said
see O0auntu saw seen
sell poAaBaTH sold sold
show MOKa3yBaTH showed shown
sit CUJIITH sat sat
speak PO3MOBIIATH spoke spoken
spend MIPOBOJIUTH spent spent
spread pO3MoBCIOKYBaTH| Spread spread
stand CTOSTH stood stood
take Opatu took taken
teach HaBYaTH taught taught
tell pO3MOBiIaTH told told
think TyMaTu thought thought
understand | po3ymitu understood understood
wear HOCHUTH wore worn
win BUTPABaTU won won
write UCaTH wrote written
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Jlonarok b

AnToHiMH /Antonyms/

easy — difficult

early — late

input — output

hardware — software

expensive — cheap

inside — outside

dead — alive

different — the same

on — off

to enter — to graduate from

to find — to lose

internal — external

the best — the worst

better — worse

more — less a newbie — a computer-literate
up — down to start — to finish

to save — to delete tiny — enormous

possible — impossible old — new

future — past to buy — to sell

slow — fast to remember — to forget

to appear — to disappear love — hate

good — bad to ask — to answer

far — close to extract — to feed

above — below

simple — complex

in — out absent — present
many — few long — short
here — there to leave —to arrive
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JlonaToxk B

¥

Cunonimu /Synonyms/

essential — important

data — information

to store — to save

to perform — to execute — to carry out

to handle — to control — to manage

currently — now

to enable — to give possibility

to run — to start

to include — to involve — to comprise

to attach — to connect

€normous — immense

tiny — very small

to keep in mind — to remember

a set of — a number of

a huge amount of — a large quantity of

permanent — constant

can — (is/are) able to

could — (was/were) able to

may — (is/are) allowed to

might — (was/were) allowed to

should — ought to

must — have to

to allow — to permit

to restrict — to limit

rapidly — fast — quickly

to alter — to change

to make up of — to consist of

to respond — to react

properties — features

many — a lot of

a cashpoint —an ATM

to calculate — to count — to compute

storage — memory

to start — to begin

a monitor — a screen

to show — to display

to participate — to take part

various — different

to print — to type

to own —to have — to [pOSSESS

to house — to place

ordinary — usual

word-processor — text-editor

to apply — to use

a laptop — a notebook

storage devices — disks

for instance — for example

to drop — to fall

job — work

difficult — hard
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Jlomat

ok I

Tabmuis I'.1 - Oxpemi BUnaaku BXXUBaHHS apTHKIIB

APTHKJIb HE BKMBAEThCHA

APTHKJIb BJKHBAETHCHA

Poxwu, nmopu p

OKY, Micsiui

I was born in 1986. — A4 napoouscs
y 1986.

We play football in summer. —
Ynaimky mu epaemo 6 pymoon.

I went to school in September. —
A niwos 00 wKou y 8epecHi.

That was the year | was born. —
Came 6 ubomy poui s HApoOOUBCs.

It was the summer of 2001 when
we moved to a new flat. — Cawme
enimky 2001 poxy mu nepeixanu 0o
HOB0I K8apmupu.

CneniaabHi gaTu, cBATa

We go away on Christmas. — Mu
610’ idrcodcaemo Ha Pizoeo.

Easter is early this vyear.
Benuxoens yb020 poxy panHii.

We had a wonderful Christmas. —
Y nac 6yno uyoose Piz060.

| started work here at the Easter
before last. — 4 nouas npayrwsamu
mym Ha Beaukodenv nozamumnynoco

DOKY.

JHi ™R

KHA

Let’s meet on Tuesday. — Jasaii
3)CMpPIHeMOCh V 6I6MOPOK.

The thunderstorm was on the
Tuesday of that week. — I'poza 6yna
MUHY020 6I6MOPKA.

YacTuuu 1oom

We sleep at night. — Yuoui mu
CRUMO.

| like to travel by day/by night. —
Meni  nooobacmvcsi  no0OpoACYBAMU
60enb [6Houi.

It got warmer during the night. —
Ilpomsieom noui nomenniwano.

We came here in the morning. -
Mu nputiuiiu ctoou epanyi.

Yac B:KUBAHHSA 1Ki

We have supper at 8 o’clock. —
Mu eeuepaemo o eocvmili.

We had a quick supper.

Mu noseuepsanu weuoxo.

KoHTHHEeHTH, KpaiHi, OCTPOBH, IITATH Ta rpadcTBa

Binvuicmo BIICUBAEMBCS oe3
apmuxas. living in Africa; to Rhode
Island; from Kansas

Haszeu, wo maroms y ceoemy
cknadi maki cnosa sk republic ma
Kingdom eorcusaromocsi 3 o3nauenum
apmuxnem: the United Kingdom.

Haszeu kpain y muoorcuni maxoor
Maromv 03HAYEHUL APMUKIb:

the USA, the Netherlands
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[Tponmosxenns Tadmmi .1

ApTHKJIB HE B KUBA€THCA

APTHKIb B/KHBAECTHCH

Perionn

Haszeu pecionis, sKi 3axinuyromuvcs
HA38010 KOHMUHEHm) YU  KpaiHu,
nUWYymsbcs 6e3 apmuKis:

Central Asia, Western Ukraine

Pewma naze eocusacmoca 3
O3HAYEHUM  apmuKiem,  30Kpemda
AKWO  HA36a  KpAlHU €  Cl0GO-
cnonyuenHam 3 nputimennuxom of:

the West; the South of Ukraine

TI'opu

Boicusaromuvcs 6e3 apmuxiie nazeu
2IPCOKUX 6EPUIUH:
Everest; North Hill

Haszeu cipcokux macusie maromo
apmuxis the:
the Alps; the Rockies

Oxeann, MOps, 03epa, piuku i KAHAJIH

Haszeu ozep  6IAHCUBAIONIbCA oe3
apmukis.’
Lake Baikal; Lake Michigan

Haszeu inwux 6o0nux npocmo-
pi6 BHCUBAIOMbCA 3 O3HAYEHUM
apmukiem.

the Black Sea; the Atlantic
(Ocean); the (River) Thames;
the Suez Canal

MicTa ¥ cesaa

bBinvwicmsv nHaze micm 1 cin
BICUBA-IOMBCS O3 APMUKILIB!

Lviv; London; Harehills

Bunsmox: the Hague

Joporu, napku, MmajaHnu

binvwicmes  eocusacmocs  6es Bunsmxku:
apmuKie:. the High Street; the Avenue;
Church Street; Fifth Avenue; | the Strand; the Mall
Central Park; Berkeley Square Has3zeu eonosnux oopie i npomy-
MEpOoBaHUux mpac BHCUBAIOMbCS 3
apmuxnem the:
the A5
MoctH
Binvwicme naze escusacmocs 6es € xinoxa eunsmrie.the Golden
apmuxais: Tower Bridge Gate Bridge; the Severn (nazea
piuxu) Bridge

AepomnopTH Ta BOK3aJ1M, yCTAHOBH

binvwicme maxkux mnaze e6orcusa-
eMbCs 6e3 apmuKiia:

Orly (airport); London Museum;
Merton College

Apmuxne excusaemvcs y momy
8UNAOKY, KOJU V HA3BI € NPUUMEHHUK
of abo imennux uu npuxmemnux:

the University of Kyiv; the
Science Museum; the White House
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[Tponmosxenns Tadmmmi .1

APTHKJIb HEe BKMBAETHCHA

APTHKJIb BJKHBAETHCSA

Teatpu, kiH03a11, roTei, rajepei

binvwicms naze 3 imenHukom y
NPUCBTUHOMY BIOMIHKY BHCUBAEMBCS
bez apmuxnie: St Martin’s (Theatre)

Ane maki Haszeu, AK npasuio,
sorcusaromocs 3 apmuxiem the:

the Globe (theatre); the Plaza
(cinema); the Ritz (hotel)

Mara3unu u

pecTopaHu

Binvwicmos naze eorcusacmocsi 6e3
apmuKig:
shopping at Harrods’s

Haszeu 3a cnoseamu body, studio
MOWO  BHCUBAIOMBCA 3  O3HAYEHUM
APMUKIEeM:

the Body Shop

3anam’amaii!
bed in bed, go to bed (zieamu sit on the bed (cuoimu na
cnamiu, 8i0N04UBAMIL) nixcky),  make  the  bed
(3acmensmu nisicko)
home at home (gdoma), go home (zimu in the house (y 6younxy), to
0odomy), come home (npuxooumu | the house (do 6younxa), in the
0ooomy), leave home (iimu 3 oomy) | home (gdoma)
sea at sea (ra mopi), 9o to sea (iimu on the sea (na mopi), by the
8 MOpe — PO MOPSIKIB) sea (no wmopio), at/ to the
seaside (rna yzbepesicocil 0o
y36epedicoicst), on/ to the cost
(ra y36epercorcil 00
y36epedicorcsl)
town in town (y micmi), Qo to town the town centre (yeump
(imu 0o wmicma), leave town |micma), the city (micmo), the
(3anuwamu micmo) village (ceno)
work at work (na pobomi), go to the office (ogic), the factory
work (zimu na pobomy), leave work | (3a600)
(zanuwumu pobomy)
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Homarox J{

OcHOBHI MoaJIbHI Ji€cI0Ba TA IXHI 3aMIHHUKH (€KBiBaJIEeHTH)
/Modal Verbs/

3AMIHHUKHA
MOOANBbHE| PRESENT PAST FUTURE
AIECNOBO
HAVE TO HAD TO SHALL HAVE TO
HAS TO AoBenochb WILL HAVE TO
OOBOOMWTLCA O0BefeThbCA
MUST
(ByTHI
NOBMHHUM) AM TO WASTO
ISTO WERE TO —
ARE TO nosuvHeH bys, mae
NOBWHEH, MAE
CAN
(morTh) AM ABLE TO WAS ABLETO SHALL BE ABLE TO
IS ABLETO WERE ABLETO WILL BE ABLETO
COULD ARE ABLETO Mir, ymis IMOe, 3ymie
(mair) MOME, YMIE
MAY AM ALLOWED TO WAS ALLOWED TO SHALL BE ALLOWED TO
(naorTi) IS ALLOWED TO WERE ALLOWED TO | WILL BE ALLOWED TO
MIGHT ARE ALLOWED TO Mir, mae amory, amorke, byae matui
i el MOXe, MaE 3mory, AO03BONANOCA 3mory, 4o3BONATb
AO3BONAETHCA
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Jlonarok E

MopsaAoK NPMKMETHMKIE Nepejl O3HAYYBaNbHHM iIMEHHMKOM

AyMKa
po3mip
BiK

thopma

Konip

noxXogyeHHsa
martepian
npM3HavYeHHs
iIMEHHHK

a nice | big |new |round | brown | German | wooden | dining | table

IopiBHAJIBbHI KOHCTPYKIIl
3 IPUKMETHUKOM

ITopiBHSAJIbHI KOHCTPYKIIl

Ipuxkaagu

asS ... aS— Takui ... K 1

This watch is as cheap as that one
L]eti 200unnux makuii yce oeuieull, AK i
moti

notas ... as
HE TaKUH ... K

notso ... as

This watch is not as cheap as that
one
Leti 200unnux He makuii oeutesutl, K
mou

This watch is not so cheap as that
one
L]eti 200unHux He maxkuil Oeuiesuti, AK
mou

the ...erthe ... er —4um ... TUM

The farther north you go, the more
severe the winter is
Yum oani na nisuiu 6u ioeme, mum
cyeopiuia 3uma
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Homarox 7K

Buno-uacosi popmu gieciona «to ask» /Active and Passive Voice/

Past Present Future
1) 2) 3)
o [asked ask shall ask
5 |did ... ask asks will ask
2| < do ... ask
% does ... ask
© o 4) 5) 6)
= | = [was asked am asked shall be asked
@ [ were asked is asked will be asked
o are asked
© 7) 8) 9)
.= | had asked have asked shall have asked
< has asked will have asked
(&}
= 10) 11) 12)
a L | had been asked have been asked shall have been
Z has been asked asked
@© .
o will have been
asked
13) 14) 15)
€ | was asking am asking shall be asking
@ | 8 |wereasking is asking will be asking
§ < are asking
S| o [16) 17)
O | = |was being asked am being asked
@ | were being asked is being asked
o h
are being asked
% 18) 19) 20)
§ S| 2 [had been asking have been asking shall have been
T = B has been asking asking
a2 g < will have been asking
@)

IMOJaHUX HUIKYC aJITOPHUTMAX.
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JlomaTtox U

AJITOPUTM NEPEKJIALY AHIJIIHCBKOT'O
IMPOCTOI'O JIECJIBHOI'O ITPUCYJIKA
YKPATHCBKOIO MOBOIO

Peuenns: Helhas been typing|a letter since 2 o’clock

Ipucymok: has been typing

1. TlonaiiTe OCTaHHE CIOBO MPUCY/KA typlng y CIIOBHUKOBIH (hopmi,
BIIKHHYBIIM 3aKiHYCHHs -INg Ta 3HAWAITP WOro TepeKiag y
CIIOBHUKY:

typing — type (V) — apykyBaTtu

2. llogatite Bech MPUCYAOK y TaONWuHid ¢Gopmi, 3aMIHUBIIN
OCTaHHE CJIOBO YMOBHHUM TIO3HAYCHHSIM:

has been typing — has been V'

3. 3HaiiniTe B TaOnuIl ojepkany (opMy Ta MUTaHHS, Ha SIKE BOHA
BIJIITOBIAE: _

has been V" — Present Perfect Continuous Active
w0 6iH éce uie pooums 3 mozo uacy?

4.TlocTaBre II¢ NHMTaHHA 1O MPHCYIKAa 1 MEPEKIaaiTh HOro
YKPaiHChKOIO MOBOIO:

has been typing — wo 6in 6ce we pobums 3 mozo wacy? — éce wie
OPYKY€ 3 mo2o uacy

Ilepexman Bin 6ce wie opyxye nuct 3 2-1 roguHu I
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Joaarok K

AJITOPUTM MEPEKJAIY YKPAIHCBKOI'O
IMPOCTOI'O JIECJIBHOI'O ITPUCYJIKA
AHIJIIMCBKOIO MOBOIO

Peuenns: Bin|nanuwelnepexnao oo 12-i 200unu

[Tpucynok:

1. 3HaiiaiTh y CIIOBHUKY 3HAUCHHS JIIECTIOBA «NUCAMUY '
nucamu — Write (v) (wrote, written)

2. [loctaBTe MUTaHHS [0 MPUCYIKA:
Hanuuie — wyo 3podums?

3. 3HaliiTh y TaONMII 11 MUTAHHS 1 BIATOBIAHY QopMy:
wo 3pobums? —>Future Perfect Active — will have V¥V

4. 3aminite yMoBHI mosHauenHsa (V'/V®) miecmosom to write y
BIMOBITHIN opmi (written)3* i gaHI/IIHiTB IPUCYIOK:
will have V°/V*" — will have written

Peuenmns: ‘ He will have written the translation by 12 o’clock '
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Jlomarok JI

Ilepexaan Bugo-4yacoBux popm giecioBa
B aKTHBHOMY Ta MAaCHBHOMY CTaHi HA MpHUKJIaJi aiecona to build

Active Passive
_ We build the house. — The house is built. —
Present Simple Mu 6ydyemo Oim. Him 6yoyemucs.

Present Continuous

We are building the
house. — Mu 6yoyemo Oim

(3apas).

The house is being
built. — /fim 6ydyemovcs
(3apas3).

Present Perfect

We have built the
house. — Mu nobyoysanu
oim.

The house has been
built. — Zim 36y006ano.

Past Simple

We built the house. —
Mu 6yoysanu Oim.

The house was built. —
im 6yn0 36y0oseano.

Past Continuous

We were building the
house. — Mu 6yoysanu dim
(v nesnuii uac).

The house was being
built. — Jim 6yoysascs
(v nesnuii uac).

We had built the

The house had been

Past Perfect hguse. — Mu 36ydysanu |built. - Jim  6yno
oim (00 nesnozo uacy). 30y0068aH0 (00 nesHo2o

uacy).
We will build the The house will be

Future Simple

house. — Mu nobyoyemo
oim.

built. — [lim 6yoe 36y00-

6AHO.

Future Perfect

We will have built the
house. — Mu 36ydyemo Oim
(0o nesnoco uacy).

The house will have
been built. — Jin 6yoe
30y006ano (00 nesnoco

uacy).

Koncrpykuis
to be going to

We are going to build
the house. — Mu 36upa-
emocs byoysamu Oim.

The house is going
to be built. — Jlin 6yoe

no6y008aHo.

Modal Verbs

We can build the
house. — Mu moorcemo no-
byoysamu Oim.

The house can be
built. — Zim mooce o6ymu
no6y008aHU.
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Jdomatok M

O0cTaBUHHI CJIOBA SIK iIHANKATOPH BUI0-4aCOBUX ()OPM J1i€c/I0Ba

Past Present Future
® often — gacro
>
= | yesterday — Buopa always — 3aBxau
o| B Y Y — BYOp yS — 3Bk tomorrow — 3astpa
2| < | last — munynmi, seldom — pinko Iy
c oo . . next — HacTyIHHUM
= OCTaHHIN pa3 sometimes — 1HKOIH . .
. o in ... days — uepe3 ... THIB
S| o |...a00—...tomyHazag | usually —3Buuaiino
= . the day after tomorrow —
£ | ‘5 | the other day — ausmu | rarely — pigko .
% . micas3aBTpa
z when — ko generally — 3Buyaiino,
SIK ITPABUIIO
recently — nenasuo
o yet — noci, e He
B ever — konu-Heoy b
< never — HiKOJIU
S by — 1o (Toro gacy) Just — TiTBKH 110 by — 10 (Toro gacy)
T before — no Toro sk already — Bxe before — no Toro six
[¢D] . - .
o | o [after —micns Toro sk this (week) — na oMy | after — micns Toro sk
% THOKHI
& today — ceoroni
o lately — ocrannim yacom
since — 3 Tux mip
o | while - B Toit wac s1x while — B To#1 yac sx
v | B | then—Toni then — roxi
3| < |at(20o’clock) -o at (2 o’clock) — o (mpyriit
2 (mpyriit roauHi) TOJIVH1)
c
£ . Now — 3apa .
= from ... till -3 ... no OW —sapas from ... till -3 ... no
8 2 | during - BipogoBx during — BpooBxk
(72}
& | all day long Bech all day long —
S
a | thewholeday [ nems the whole day
" for — BupomoBx
@ .
S for — Bponos:x E:} Rgvv\\; -
S| o |since—3 (apyroi U 10 NOW ﬂacl}l, for — BupomoBx
S | .2 | rogunm) pf since —3 ...
(@) - r
O g how long? sik noBro? S0 Ta ’ o how long? sik noBro?
B since when? 3 soro | NOW 10ng? sk 10Bro’ since when? 3 sixoro gacy?
2 ' since when? 3 sikoro ' '
C yacy? o
K gacy?
still — Bce me

[TpumiTka. OOGCTaBUHHI CIOBa HE € a0CONIOTHOIO 03HAKOIO BHI0-4aCOBHX (OpM, a JIuIie
OTOMIXkHO0. Lle 3yMOBIIOETBCS THM, IO JAESIKI 3 HUX BXKHMBAIOThCS 3 KUIBKOMa BHJIO-
4acoBUMH (hopMamu JIi€CIIOBA.
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Jlomatox H

IPATHL OCHOBHUX THIIB 3aIMTAHD

I. General (zaransne) — Yes/No Questions

Does the table stand in the middle of the room?
(Uu ctin cTOiTh OCEpennHI KIMHATH?)

[TpumiTku:
1. Ha nepiire Miciie BAHOCUTBCS IOTIOMIKHE J11€CTIOBO;
2. Kopotka BinnoBiap Ha muTaHHs «Tak» au «Hi» («Yes» or «No»).

I1. Special (crienianbue):

Where does the table stand?
(e croith cTin?)

[Ipumitka. CnemianbHe 3anuTaHHd OyIyeThCS 3a MPUHIUIIOM 3arajbHOTO,
AJIE Ha niepiiie Miclie JOAA€ThCs MUTAIbHE CIOBO.

what — 1o, Axuit how many — ckibku (s 37iuyBa-
when — xomu HOTO0)

why — qomy how long — sik 1oBro

where — e which — xotpwuii

how — sik whom — koro

how much — ckinbku  (uns  Hesi- where...from — 3Binku

YyBAHOI0)

III. Who... What... (muranss 1o miameTa):

What stands in the middle of the room?
(Lo cToiTh mocepeanHi KiMHATH?)

[TpumiTku:

1. [IpuiiHSITO BINHOCUTH O Jl€ciioBa-TpucyAka B 3-i 0co01 OJHUHHU
(he, she, it);

2. 3anyMTaHHs HE MICTUTH JOMOMIXKHOTO JI1€CIOBA, KPIM 4YaciB, KOJIU BOHO €
y CTBEPIXKYBaJILHOMY PEUYEHHI (HANPUKIIAJ y MailOyTHROMY Yact).

IV. Alternative (muranus Bubopy):

Does the table or the chair stand in the middle of the room?
(Crin 4m cTinenp CTOITh MOCEPEAHI KIMHATH?)

[TpumiTka. lanuii TMO 3anuTaHHsa OyAyeThCS TakK, SIK 1 3arajbHe, OJHAK J10/a-
€TbCS allbTepHaTHBa (TICIS CJIOBA, 10 SKOIO BOHA 3aJIa€ThCS) 3a JOMOMOTOIO
CIIOJTyYHHKA abo - OF.
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V. Tag-questions (po3aijioBe, «3 XBOCTUKOMY):

The table stands in the middle of the room, doesn’t it?
(Crix cToiTh mocepeauHi KIMHATH, YU HE TaK?)

The table doesn’t stand in the middle of the room, does it?
(Crin1 He CTOITH MOCEpPEIMHI KIMHATH, Y4 HE TaK?)

[Tpumitka. Po3miioBe TWTaHHA BUTISAAAE SIK PO3MOBIAHE PEUEHHS, aje
BBAYKAETHCS 3aMUTAHHAM 4Yepe3 «XBOCTHK». BiH MICTUTH y c001 TpH CKJIalOBI,
a came: 1) A0IMOMIKHE JIIECIIOBO 3TiIHO 3 YaCOM y pEeUCHHI; 2) 3alepeyHa yacTka
not (skmo ii HemMae y camMoMy pEYEeHHI, SKIO0 € — NOtHe CTaBUTHCA);

3) zaliMeHHUK, 110 3amiHioe miaMeT (y maHomy pedeHHi migmer the table
HOTPIOHO 3aMIHUTH 3aHMEHHHUKOM it).

Ilpuknao cknadanns 3anumans ons peuenns y Past Indefinite Tense

We watched an interesting film yesterday.

Did we watch an interesting film yesterday? (3araibHe 3aruTaHH:?)

What did you do yesterday? (cnerianpHe 3anIuTaHHs)

Who watched an interesting film yesterday? (3anuranns a0 miamera)

Did we watch an interesting film or a music show yesterday? (aibrepna-
THUBHE 3aITUTAHHS)

We watched an interesting film yesterday, didn’t we? (po3ainoBe 3anmuTaHHs)

We didn’t watch an interesting film yesterday, did we? (po3mizose
3aIMTaHHS)
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